FRG0EE S=XFHAES

(Ep30% 48 1B 5F31%E 3H31HET) F25D1HK
HERUFER D HEBUHEARTESER
_ (B M) No. 1
B & ¥ H LEERE AEERE 1B
NEERRE XIS 187,030,373 189,785,771 -2,755,398
EPNETEEINE 0 0 0
REREHIEINIE 729,000 200,800 528,200
| I [BERESHEINE 242,721 270,000 -27,279
I OO 0 0 0
E 0
K 0
& 0
) 0
12 —J—EX &g amat (1) 188,002,094 190,256,571 -2,254,477
B ANEE 148,916,845 145,125,706 3,791,139
D EE 3 31,619,612 31,420,595 199,017
&R =%E 38,294,184 41,398,050 -3,103,866
Z | FIRESIRT R 0 0 0
BAm{E RN E 6,830,298 6,089,019 741,279
EE#AMEERREL S INAREE -2,264,331 -2,196,623 —67,708
F [N AT aEZE 0 0 0
[ENENEEIEES N 99,000 105,000 —6,000
Z DD E F 525,800 486,200 39,600
H—F R 5 o) FAaT (2) 224.021.408 222.427 947 1.593.461
*f—t‘x%éﬂi%;ﬁg Z=%8(3)=(1)—(2) -36,019,314 -32,171,376 3,847,938
B A Fl 2B I 0 0 0
S EF| B AL S SIS 1,000 2,500 -1,500
" )} EWE#&{@H 0 0 0
I | BEEEEAE 0 0 0
e -xﬁﬁﬁ;ﬁhﬂﬁﬁ 0 0 0
2 BRERMEEETAE 0 0 0
= Z DY —E R;FH5 IR 1,735,204 952,204 783,000
éﬂ F—E X & e N2 at (4) 1,736,204 954,704 781,500
s\ XIFIR 0 0 0
ié E1ﬁﬁ#n¥1ﬁ E 0 0 0
Sz 2 | AEE&EEiE 0 0 0
’o) B -xﬁEﬁﬁ;E#uﬂﬁﬁé 0 0 0
a7 &R M EFTHIE 0 0 0
: FDDY—E XEESE B 1,020,070 917,210 102,860
H—FE R 5 Bh) & FHaT (5) 1,020,070 917.210 102,860
T —E A& e e 28 (6) = (4) — (5) 716,134 37,494 678,640
e e gE (/)= (3)*(6) —35.303,180 ~32.133,882 3,169,298
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No. 2

B & ¥ H AREFERE BIEERE IR

5% B E @B £ IR A 500,000 500,000 0

I BIEE T U 0 0 0

N (B EEESRASTEEETHDSING 0 0 0

% |EE & EZIEEE 0 0 0

¥ & 7E & EE ST A AT 0 0 0

f:;JI Z DD RN 8,661,400 987,400 7,674,000

& 0

5 0

D Wl ET (8) 9,161,400 1,487,400 7,674,000

& EAETHHAZ 0 0 0

& (GEIMmE 0 0 0

A |BxE&ERME-0niE 1 0 1

EEHEB SR E TS INEEEE BRAE) 0 0 0

EE#AMEERNELEIEIEE 500,000 500,000 0

KEEEX 0 0 0

ZTRHDEERIEL 0 0 0

0

0 0

A2 FRET (9) 500,001 500,000 1

RS R EEE(10)=(8)—(9) 8,661,399 987,400 7,673,999

LA el =28 (11) = (7)+(10) -26,641,781 -31,146,482 4,504,701

& [ e a s B = 28 (12) 230,260,829 261,407,311 -31,146,482

g UHAKBHUERIEEEE(3)=001)+12) 203,619,048 230,260,829 -26,641,781

e HAEENAEZE(14) 0 0 0

= [EDIDIET S ERFEEEE (15) 102,856,030 0 102,856,030

= [ZOMOBILIEIEE(16) 50,000,000 0 50,000,000
37 | REGRBIENIB R ESE

ol (17)=013)+(14)+(15)—(16) 256,475,078 230,260,829 26,214,249
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